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SEQ 0001
IDENTIFICATION
PRODUCT CODE: AC=S068A=MC
PRODUCT NAME : CZCTBAQ CTS11=JC HOLLORITH
8035-8045 (11/70)
80 COLUMN CARD TERMINAL CONTROL
DATA FORMAT: 8 BIT HOLLERITH
UPDATED DATE 20 MARCH 80
MAINTAINER: J. BENNETT
COMPUTER, SPECIAL SYSTEMS
AUTHOR: P.W. DUKE

UPDATE AUTHOR:

VIJAY ANANDWALA

THE INFORMATION IN THIS DOCUMENT IS SUBJECTED TO

CHANGE WITHOUT NOTICE AND SHOULD NOT BE CONSTRUED

AS A COMMITMENT BY DIGITAL EQUIPMENT CORPORATION
DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY
FOR ANY ERRORS THAT MAY APPEAR IN THIS DOCUMENT.

®

THE SOFTWARE DESCRIBED IN THIS DOCUMENT IS FURNISHED
UNDER A LICENSE AND MAY ONLY BE USED OR COPIED
IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE.

DIGITAL EQUIPMENT CORPORATION ASSUMES NO RESPONSIBILITY
FOR THE USE OR RELIABILITY OF 1TS SOF TWARE
ON EQUIPMENT THAT 1S NOT SUPPLIED BY DIGITAL.

COPYRIGHT: 1974,1980

DIGITAL EQUIPMENT CORPORATION.
MAYNARD , MASS .
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SEQ 0002

e

51 . (

g (

(

gg 1.0 ABSTRACT 4

(

56 g THIS PROGRAM TESTS THE OPERATIONAL ABILITY OF THE CTS11=JC TO (

57 ‘ INTERFACE TO_AN 8035-8045 B0 COLUMN READER/PUNCH. THE PROGRAM (

58 CONSISTS OF TWO SETS OF TESTS, LOGIC TESTS AND CARD TESTS, (

59 THE LOGIC TESTS ARE PERFORMED WITHOUT CARDS IN THE 8035-8045. (

| 60 THE CARD TESTS ARE A FOUR PASS SERIES OF TESTS WHICH USE 20 (
61 CARDS. THE CARD TESTS SHOULD NOT BE RUN UNTIL THE LOGIC p-are

62 TESTS HAVE RUN SUCCESSFULLY. THE PROGRAM 1S DEVICE CODE P 4

| 63 INDEPENDENT AND THERE 1S AN INPUT ROUTINE WHICH ALLOWS 1 &
| 64 \ THE OPERATOR TO SPECIFY DEVICE ADDRESS, INTERRUPT VECTOR SRE |
| 65 ADDRESS AND BR LEVEL. THIS ROUTINE IS RUN AT THE 1 4
t 66 5 BEGINNING OF EVERY PASS THROUGH THE PROGRAM. THERE IS A | 4
! 67 GREAT DEAL OF INTERACTION REQUIRED BETWEEN THE OPERATOR | 4
68 AND THE PROGRAM. THIS INTERACTION IS ACCOMPLISHED BY MEANS L4

69 OF TELETYPE DIRECTIONS AND MESSAGES TYPED OUT DURING THE et

70 RUNNING OF THE PROGRAM WHICH FREQUENTLY REQUIRES OPERATOR | - §

n RESPONSE. DIRECTIONS GIVEN TO THE OPERATOR VIA THE TELETYPE 4

, ;g  MUST BE FOLLOWED EXACTLY TO ACHIEVE SUCCESSFUL TESTING. 4
i (
i 74 _ 4
;g ; 2.0 REQUIREMENTS 4

BER |

, ;g _ 2.1 EQUIPMENT (
- : (

: 79 PDP=11 WITH MINIMUM OF 4K OF MEMORY (
, 80 . CTS11=JC INTERFACE - (
g; 8035-8045 80 COLUMN READER/PUNCH (

: (

gz 2.2 PRELIMINARY PROGRAMS (

(

gg ALL PROCESSOR DIAGNOSTICS MUST RUN ERROR FREE 4

4

87 5

gg 3.0 LOADING PROCEDURE (

. | (

90 PROCEDURE FOR LOADING NORMAI ABSOLUTE TAPES SHOULD BE FOLLOWED. (

%2 b

| (
| 93 (
; gg 4.0 STARTING PROCEDURE (
| (
g 39 4.1 CONTROL SWITCH SETTINGS :
' 98 SR15=1 CONTINUE AFTER ERROR f
| 99 SR14=1 DELETE ERROR TYPEOUTS (
100 SR13=1 LOOP ON ERROR (

| 101 ’ SR2=1 BYPASS DEVICE CODE ENTRY ROUTINE (
L 102 SR1=1 DO LOGIC TESTS (
| }82 SRO=1 DO CARD TESTS (
105 4.2 OPERATOR ACTION :
- 106 5
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5.0

6.0

7.0

SEQ 0003
LOAD PROGRAM INTO MEMORY
SET SWITCH REGISTER TO STARTING ADDRESS 200(8)
PRESS LOAD ADDRESS
SET SWITCH REGISTER TO DESIRED OPTIONS

PRESS START

OPERATING PROCEDURE

FOLLOW DIRECTIONS GIVEN ON THE TELETYPE EXACTLY. THIS IS
NECESSARY FOR SUCCESSFUL TESTING. AT THE END OF A
COMPLETE PASS THROUGH THE SELECTED ROUTINES THE PROGRAM
WILL TYPE OUT ''END OF TESTING'' AND HALT. TO REPEAT

FOR ONE

ERRORS
6.1

6.2

PROGRAM
7.1

ol

PASS, PRESS CONTINUE.

ERROR HALTS

THE MEANING OF AN ERROR HALT CAN BE DETERMINED BY READIN
THE PROGRAM LISTING AT THE ADDRESS OF THE ERROR HALT.

ERROR TYPEOUTS

ALL ERROR TYPEOUTS WILL INCLUDE THE FIRST LINE
SHOWN BELOW, AND WHEN RELEVANT ONE OR MORE OF THE
OTHER THREE LINES.

""ERROR AT ADDRESS AAAAAA
''600D=BBBBBB

"BAD =CCCCCC

"'COLUMN #=DD"’

WHERE :

AAAAAA = THE ADDRESS OF THE ERROR
BBBBBB = THE EXPECTED RESULT FROM A TEST
CCCCCC = THE ACTUAL RESULT FROM A TEST
DD = THE COLUMN NUMBER IN ERROR
DESCRIPTION

LOGIC TESTS

THE LOGIC TESTS ARE A SERIES OF 6 TESTSS WHICH DO NOT
REQUIRE CARDS TO BE IN THE 8035-8045. THESE 6 TESTS PER
BASIC CHECKS ON THE & REGISTERS ON THE INTERFACE AND
TESTS AS MUCH AS POSSIBLE OF THE OPERATIONAL CAPABILITY
OF THE INTERFACE WHILE IN A STATIC CONDITION. CORRECT
RESPONSE BY THc OPERATOR TO INSTRUCTIONS GIVEN VIA TYPE
OUTS 1S NECESSARY FOR THIS TEST TO BE SUCCESSFUL.

CARD TESTS

~E
s
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PRIMARY HOPPER. THE PROGRAM READS THESE CARDS AND ALSO
PUNCHES THE CHARACTER SET ON EACH CARD. THE

CARDS ARE PUNCHED IN A PRECESS FASHION WITH THE 1ST
PUNCHED CHARACTER OF CARD #1 APPEARING IN COLUMN #11
AND SO ON UNTIL THE 1ST PUCNCHED CHARACTER OF CARD #20
IS IN COLUMN #31. THE CARDS ARE ALL PLACED IN STACKER
#1, THE OPERATOR VERIFIES THAT THE CHARACTER

SET APPEARS IN EACH CARD AND THAT PUNCHING WAS DONE IN :
A PRECESS FASHION. THE CHARACTERS APPEAR ON THE CARDS |
IN THE ORDER SHOWN BELOW:

PASXE () x4 ,=/0123456789:;<=>?3ABCDEFGHIJKLMNOPQRS TUVWX Y

JMAIN, MACY1Y 30A(1052) 20<MAY-BD 09:53 PAGE 3«2 JMAL
CZCTBA.PIN 20=MAY-80 08:5¢4 SEQ 0004 c2CT

163 (
164 THE CARD TESTS ARE A SERIES OF & ROUTINES (PASSES) (
165 WHICH CHECK THE ABILITY OF THE INTERFACE TO PERFORM (
166 CORRECTLY IN CARD HANDLING OPERATIONS. THE TESTS (
167 REQUIRE A DECK OF 20 BLANK CARDS WHICH ARE PASSED (
168 THROUGH THE B035-804S5 & TIMES, WHICH AT THE 5
X CONCLUSION OF THE & PASSES CONTAIN PUNCHED , 5
70 INFORMATION WHICH MUST BE VISUALLY VERIFIED BY THE 5
al OPERATOR. VERIFICATION OF CORRECT OPERATION OF THESE 5
72 & PASSES IS DONE BY THE OPERATOR BASED ON INSTRUCTIONS 5
73 GIVEN VIA TYPE OUTS AT THE BEGINNING AND END OF EACH §
74 FASS. DETAILED DESCRIPTIONS OF WHAT ]S DONE DURING B
;2 EACH PASS IS GIVEN BELOW. g
77 PASS 1 = THE OPERATOR PUTS 10 BLANK CARDS IN EACH INPUT 5
78 HOPPER. THE PROGRAM READS THESE CARDS AND PUTS THEM INT 3
79 THE 2 STACKERS, 10 BLANK CARDS IN EACH STACKER. THE

80 OPERATOR VERIFIES THAT THERE ARE 10 BLANK CARDS IN EACH

g; STACKER.

gz PASS 2 = THE OPERATOR PUTS THE 20 BLANK CARDS IN THE

85

SSREC28TEZE

.REM :

PASS 3 - THE OPERATOR PUTS THE 20 CARDS IN THE

PRIMARY HOPPER. THE PROGRAM READS THE CARDS AND ALS0

PUNCHES MORE CHARACTERS ON EACH CARD BEGINNING WITH

COLUMN #1, CARD #1 WILL HAVE THE LETTER ‘' A "  PUNCHED

CARD #2 WILL HAVE 2 CHARACTERS (LETTER A) UP TO

CARD #20 WHICH WILL HAVE 20 CHARACTERS (LETTER A) PUNCHE

ALL THE CHARACTERS PUNCHED IN THIS TEST WILL BE CAPITAL
THE CARDS WILL BE PLACED IN STACKER #1,

THE OPERATOR VERIFIES THAT THESE CHARACTERS WERE

PUNCHED CORRECTLY .

i e s D il i il i i il il il il il il D il i il il i A il i il il i il el
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%10 THIS IS THE END OF THE CARD TESTS. '
21 SCTS11-JC 80 COLUMN CARD TERMINAL CONTROL INTERFACE TEST (11/70) ‘
212 ;DATA IS IN HOLERITH. (B BIT) FORMAT 5
213 sDECSPEC-CZCTBA 5
214 : esess MODEL 8035-804S5 sssss 3
215 ; AUTHORS : 5
216 : P. W. DUKE (
217 : A. L. UNSER .Y
218 :20-DEC-73 S
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; UPDATE AUTHOR:
; (UPDATED MARCH-80)

.ABS
PS=177776
SR=177570
TKS=177560
TKB=177562
TPS=177564
TPB=177566
RO=X0
R1=X1
R2=%2
R3=X3
R4=%4
R5=X5
SP=X6
PC=%7
XX=HALT
ERR=EMT
TYPE=TRAP
(OL=4
GB=3
6=2
B=1

.MACR

BIT

BEQ

.ENDM

.MACR

BITS8

BEQ

.ENDM

.MACR

BIT

BEQ

.ENDM

LNLIST

(MP

BNE

(MP

BNE

L15T

JMP

.ENDM

.MACR

LP=.

MOV

MOV

ME

WTDONE
#220.BTCR

WTODR ‘
lzgo,aTIRHl

WTIDR
#200,aTIR

.-6

.MACR LOOP A
#1,SCOPE

“

.+16
#.-10,LASTPC
.46

aNA
(KTCR A,B

A,GOOD
aTCR,BAD

VIJAY ANANDWALA

;WAIT FOR DONE FLAG

;WAIT FOR OUTPUT DATA REQUEST

;WAIT FOR INPUT DATA REQUEST

;READ (MD REGISTER

SEQ 0005

NSNS NI = o o o o o 2 s\ o 5 2 o o 2 s NN

]
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7S. (MP 6GOO0D,BAD 5
76 BEQ Y 6

27 ERR+GB ;CMD REG = VALUE READ NOT EQUAL TO EXPEC 6l
278 LOOP B 6
279 .ENDM 6!
280 6
281 .MACR (KTSR A.,B ; 6
282 LP=, &
283 MOV A,GOOD 6
284 MOV aTSR,BAD sREAD STATUS REGISTER , 6l
285 (MP GOOD ,BAD l 6l
286 BEQ A - 6
287 ERR+GB ;STATUS REG = VALUE READ NOT EQUAL TO EX 6
288 LOOP B 5
289 .ENDM A
290 5
291 .MACR  (KTDR A,B 6
292 LP=, 6
293 MOV A,GOOD 6
294 MOV aTDR,BAD ;READ DATA REGISTER 6
295 (MP GOOD ,BAD 6
296 BEQ A : 6.
297 ERR+GB :DATA REG = VALUE READ NOT EQUAL TO EXPE | 5
298 LOOP B 6
299 .ENDM 6
300 6.
301 .MACR  (KTIR A,B | (
302 LP=. &
303 MOv A,GOOD ‘ (
304 MOV aTIR,BAD ;READ INTERRUPT REGISTER T ¢
305 CMP GOOD ,BAD (
306 BEQ L4 ¢
307 ERR+GB : INTERRUPT REG - VALUE READ NOT EQUAL TO (
308 LOOP B '
309 .ENDM . 6.
310 000000 o B | 6.
311 000140 .REPT 140 : 6.
312 .42 : , ('
313 HALT ¢
314 .ENDR (!
(1) 000000 000002 .42 (
(1) 000002 000000 HAL T (!
(1) 000004 000006 .42 | (1
(1) 000006 000000 HALT ¢
(1) 000010 000012 .42 G
(1) 000012 000000 ~ HALT 6.
(1) 000014 000016 LR 6.
(1) 000016 000000 HAL T 6
(1) 000020 000022 R 6!
(1) 000022 000000 HALT 6
(1) 0000264 000026 + 6
(1) 000026 000000 HALT (
(1) 000030 000032 +2 O
(1) 000032 000000 HALT (1
(1) 00003¢ 000036 +2 (
(1) 000036 000000 HALT (1
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(1) 000040 0000«8 Y. (
(1) 000042 00000 HALT (
(1) 000044 000046 .42 (
(1) 000046 000000 HALT 6
(1) 000050 000052 O (
) 52 000000 HALT (
(1) 000054 000056 e (
N 56 000000 HALT (
(1) 000060 000062 +2 (
(1) 000062 000000 HALT (
) 000066 .42 (
(1) 000066 000000 HALT (
(1) 000070 000072 +2 6
(1) 000072 000000 HALT 6
(1) 00007&¢ 000076 +2 6
(1) 000076 000000 HALT 6
(1) 000100 000102 +2 6
(1) 000102 000000 HALT 6
(1) 000104 000106 .42 6
(1) 000106 000000 HALT 6
(1) 000110 000112 +2 6
(1) 000112 000000 HALT é
(1) 000114 000116 +2 (
(1) 000116 00000V HALT 6
(1) 000120 000122 +2 6
(1) 000122 000000 HALT 6
(1) 000126 000126 +2 6
(1) 000126 000000 HALT (
(1) 000130 000132 + (
(1) 000132 00000 HALT (
(1) 00013¢ N0D136 +2 (
(1) 000136 000000 HALT . (
(1) 000140 000142 +2 (
(1) 000142 000000 HALT . (
(1) 000144 000146 +2 (
(1) 000146 000000 HALT 6
(1) 000150 000152 +2 (
(1) 000152 000000 HALT (
(1) 000154 000156 +? (
(1) 000156 000000 HALT (
(i) 000160 000162 +2 (
(1) 000162 000000 HALT (
(1) 000164 000166 +2 (
(1) 000166 000000 HALT (
(1) 000170 000172 .42 ¢
(1) 000172 00 HALT ¢
(1) 0001764 000176 Y. ¢
(1) 000176 000000 HALT ¢
(1) 000200 000202 +2 (
(1) 000202 000000 HALT (
(n 206 000206 + ¢
(1) 000206 000000 HAL T (
(1) 000210 000212 Y, (
(1) 000212 HALT (
(1) 000214 000216 .42 (
(1) 00021¢ 000000 HALT (
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(1) 000220 000222 .42 (
(1) 000222 000000 HALT (
(1) 00022¢& 000226 .42 (
(1) 0002 00000 HALT 6
(1) 000230 000232 +? 6
(1) 0002 0000 HALT (
Q) 2 000236 .42 (
(1) 000236 000000 HALT (
(1) 000240 000242 .42 (
(1) 000242 000000 HALT (
(1) 00024& 000246 Y (
(1) 000246 0000 HALT (
(1) 000250 000252 +? (
(1) 000252 00 HALT 6
(1) 000254 000256 .42 6
(1) 000256 0000 HALT 6
(1) 000260 000262 .42 6
(1) 000262 000000 HALT 6
(1) 00026& 000266 +? (
(1) 000266 000000 HALT (
(1) 000270 000272 +2 6
(1) 000272 000000 HALT 6
(1) 00027&¢ 000276 +2 (
(1) 000276 000000 HALT (
(1) 000300 000302 +2 (
(1) 000302 000000 HALT (
(1) 00030& 000306 +2 (
(1) 000306 000000 HALT (
(1) 000310 000312 +2 (
(1) 000312 000000 HALT (
(1) 000314 000316 +2 ; 6
(1) 000316 000000 HALT (
(1) 000320 000322 +2 (
(1) 000322 000000 HALT (
(1) 00032¢ 000326 +2 (
(1) 000326 000000 HALT (
(1 000332 +2 (
(1) 000332 000000 HALT (
(1) 000334¢ 000336 +2 (
(1) 000336 000000 HALT 6
(1) 000340 000342 . +? 6
(1) 000342 000000 HALT 6
(1) 000344 000346 +2 (
(1) 000000 HALT (
(1) 000350 000352 +2 6
(1) 000352 000000 HALT {
(1) 00035¢ 000356 +2 ¢
(1) 000356 000000 HALT (
(N 360 000362 +2 (
(1) 000362 000000 HAL T (
(1) 00036& 000366 +2 (
(1) 000366 000000 HALT (
(1) 000370 000372 .42 (
(1) 000372 000000 HALT 6
(1) 00037¢ 000376 .42 6
(1) 000376 000000 HALT (
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(1) 000400 02 +2 {
(1) 000402 000000 HALT (
(1) 000404 000406 +2 (
(1) 000406 000000 HALT (
(1) 000410 000412 > .42 (
(1) 000412 00 HALT (
(1) 000414 000416 .42 (
*(1) 000416 000000 HALT ¢
(1) 000420 000422 +2 ¢
(1) 000422 000000 HALT ¢
(1) 000424 000426 +2 ¢
(1) 000426 000000 HALT (
(1) 000430 000432 .42 (
(1) 000432 000000 HALT ¢
(1) 000434 000436 +2 ¢
(1) 000436 000000 HALT (
(1) 000440 000442 + (
(1) 000442 000000 HALT ¢
(1) 000444 000446 +2 (
(1) 000446 000000 HALT (
(1) 000450 000452 +2 (
(1) 000452 000000 HALT (
(1) 000454 000456 +2 (
(12 000456 000000 HALT | (
(1) 000460 000462 + (
(1) 000462 000000 HALT . (
(1) 000464 000466 +2 ¢
(N 66 000000 HALT E % 1
(1) 000470 000472 + ; (
(1) 000472 000000 HALT | (
(1) 000474 000476 +2 (
(1) 000476 000000 HALT (
(1) 000500 000502 +2 ! (
(1) 000502 000000 HALT I (
(1) 000504 000506 +2 { (
(1) 000506 000000 HALT . 6
(1) 000510 000512 +2 . é
(1) 000512 000000 HALT | 6
(1) 000514 000516 . .42 i 6
(1) 000516 000000 HALT ! é
(1) 000520 000522 .42 (
(1) 000522 000000 - HALT (
(1) 000524 000526 .42 ¢
(1) 000526 000000 HALT ¢
(1) 000530 000532 .42 (
(1) 000532 000000 HALT (
(1) 00053& 000536 .42 (
(1) 000536 000000 HALT (
(1) 000540 000542 .42 (
(1) 000542 000000 HALT (
(1) 000544 000546 .42 (
(1) 000546 000000 HALT (
(1) 000550 000552 .42 é
(1) 000552 000000 . HALT (
(1) 000554 000556 . .42 L (
(1) 000556 000000 HALT (
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000560 00056
000562 00000
00056

001046 032777
001054 001402
001056 004767

001062 032777
070 001402
72 004767

04 000137

20-MAY-B0 09:53 PAGE 3-8
0 08:5¢

000574
000340
001000

020052
000066

e
012214
000002
000140
000001
003266

001046

176770

177640

177624

177610

.42
HALT
+2
HALT
+2
HALT
+2
HALT
.=30
.WORD ERROR
.WORD 340
=174
DISPREG: .WORD 0
SWREG: .ugzb 0
.WORD TYPOUT
.WORD 340
ERRVEC =4

DSWR =177570
DDISP=177S78

SWR: .WORD DSWR
DISPLAY: .WORD DDISP
APASS: .WORD 0
AENVM: .WORD 0
ASWREG: .WORD 0
AUTOB: .BYTE 0
INTAG: .BYTE 0

.WORD
.=200
JMP START
.=1000

START: MOV #340,PS
MOv #1000,SP
CLR SCOPE
JSR PC,SWRCK
TYPE
PROGNM

JSR PC,GTSWR
BIT ¥4 ,aSWR

BNE ST1

JSR PC,DEVCOD
S11:  BIT #2,aSWR

BEQ ST2

JSR PC,INIT
$12:  BIT aSWR

BEQ 513

JSR PC.PASS1
$13:  TYPE

ENDMSG

XX

JMP ansT]

SEQ 0010

;TIME OUT AND OTHER ERROR
+HARDWARE SWITCH REGISTER
:HARDWARE DISPLAY REGISTER

;ADDRESS OF SWITCH REGISTER
sADDRESS OF DISPLAY REGISTER
;PASS COUNT

;ENVIRONMENT REGISTER

;APT SWITCH REGISTER
sAUTOMATIC MODE INDICATOR

; INTERRUPT MODE INDICATOR

;SET BPU TO LEVEL #7
;INITIALIZE THE STACK POINTER
;INITIALIZE SCOPE

" DECSPEC-11-CZCTBAO-CARD READER = TEST

;1F SR2=0C
;GO TO DEVICE CODE ENTRY ROUTINE

:1F SR1=1
.60 DO LOGIC TESTS

;1F SRO=1
.60 DO CARD TESTS

;"'END OF TESTING'
JHALT AT END

;SIZE FOR A HARDWARE SWITCH REGISTER. IF NOT FOUND OR IT IS

MA]
ezt
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363 ;EQUAL TO A "'=1'', SETUP FOR A SOFTWARE SWITCH REGISTER.
gg« 001110 013746 000004 SWRCK: MOV ONERRVEC,=(SP)  ;SAVE EPROR VECTOR
S 001114 01%737 001150 000004 MOV #RT1,3MERRVEC :SET UP ERROR VECTOR
366 0011;2 012767 177570 177550 MOV #DSWR, SWR ;SET UP FOR MARDWARE SWR
367 001130 012767 177570 177544 MCy #DDISP,DISPLAY  ;AND A HARDWARE DISPLAY REGISTER
368 001136 022777 177777 177534 CMP #-1,3S5WR sTRY TO REFERENCE HARDWARE SWR
369 001144 001012 BNE RT3 ;BRANCH IF NO TIME OUT TRAP OCCURED
370 ;AND THE HARDWARE SWR IS NOT = =1
371 001146 000403 BR RT2 ;BRANCH IF NO TIME OUT
37% 001150 012716 001156 RT1: MOV #RT2,(SP) :SET UP FOR TRAP RETURN
373 001154 000002 RTI
374 001156 012767 000176 177514 RT2: MOV #SWREG, SWR ;POINT TO SOF TWARE SWR
375 001164 012767 000174 177510 MOV #DISPREG,DISPLAY
376 001172 012637 000004 RT3: MOV (SP)+,3#ERRVEC  ;RESTORE ERROR VECTOR
377 001176 005067 177502 CLR APASS :CLEAR PASS COUNT
378 001202 132767 000200 177476 BITB #200,AENVM ;TEST USER SIZE UNDER APT
379 001210 001403 BEQ - RT4 ;YES,USE NON=-APT SWITCH
380 001212 012767 000710 177460 2 MOV FASWREG, SWR :NO,USE APT SWITCH REGISTER
381 001220 000207 - RT4: RTS PC
383
ggg :3 REGISTERS SHOULD EQUAL ZERO AT INITIALIZATION
386 001222 104400 INIT: TYPE
387 001226 015441 LOGTST ;U'wewww LOGIC TESTS #wewe'
388 001226 104400 TYPE
389 001230 015475 INITMI :"'PUT THE B8035-8045 OFF-LINE, REMOVE ALL
390 001232 104400 TYPE
391 001234 017274 P2MSG4 ;PRESS STOP RESET ON 8035-8045
392 001236 004767 010750 JSR PC,CONTIN :"'PRESS CR TO CONTINUE"
393 001242 000005 INIT1: RESET
394 001244 CKTCR  #0,INITI ;TEST CMD REG FOR 0
) 001244 LP=.
(1) 001244 012767 000000 017574 MOV #0,600D
(1) 001252 017767 017622 017556 MOV aTCR,BAD ;READ CMD REGISTER
(1) 001260 026767 017562 017550 CMP GOOD,BAD
(1) 001266 001401 BEQ YA
(1) 001270 104003 ERR+GB ;CMD REG - VALUE READ NOT EQUAL TO EXPEC
(1) 001272 LOOP INITI
(2) 001312 000137 001242 JMP a¥INITY
395 001316 CKTSR  #0,INIT1 ;TEST STATUS REG FOR 0
() 001316 LP=.
(1) 001316 012767 000000 017522 MOV #0,600D
(1) 001324 017767 017554 017504 MOV 3TSR,BAD ;READ STATUS REGISTER
(1) 001332 026767 017510 017476 CMP GOOD ,BAD
(1) 001340 001401 BEQ YA
(1) 001342 104003 ERR+GB ;STATUS REG - VALUE READ NOT EQUAL TO EX
(1) 001344 LOOP INITY
(2) 001364 000137 001242 JMP a¥INITY
396 001370 CKTIR  #0,INITY ;:TEST INTERRUPT REG FOR 0
(1) 001370 LP=.
(1) 001370 012767 000000 017450 MOV #0,G0OD :
(1) 001376 017767 017512 017432 MOV aTIR,BAD ;READ INTERRUPT REGISTER
(1) 001404 026767 017436 017424 CMP GOOD,BAD
(1) 001412 001401 BEQ L4
(1) 001414 104003 ERR+GB ;INTERRUPT REG - VALUE READ NOT EQUAL 10
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(1) 001416 LOOP INITY |
(3; 001436 000137 001242 JMP arINITI ‘
|

333 001442 000137 001446 JMP ArFTEST ‘
: ‘ '

:g? ;LOAD=READ TEST OF COMMAND REGISTER |
: t '

402 001446 012702 001632 TEST1: MOV #TILST,R2 1
403 001452 012267 017372 T1A: MOV (R2)+,HOLD '
404 001456 016777 017366 017414 T18B: MOV HOLD,aTCR ;LOAD CMD REGISTER i
405 001464 CKTCR  HOLD,TIB :TEST CMD REG FOR CORRECT VALUE i
M 001464 LP=, |
(1) 001464 016767 017360 017354 MOV HOLD , GOOD 1
(1) 001472 017767 017402 017336 MOV aTCR,BAD ;READ CMD REGISTER <
(1) 001500 02678? 017342 017330 CMP 600D ,BAD |
(1) 001506 001401 BEQ R i
(1) 001510 104003 ERR+GB ;:CMD REG = VALUE RCAD NOT EQUAL TO EXPEC i
(1) 001512 LOOP T18 ‘
(2) 001532 000137 001456 JMP NTIB 1
406 001536 020227 001664 CMP az AT1END+2 |
407 001542 001343 BNE T1A i
408 Nou SEE IF RESET CLEARS ALL BlTS THAT CAN BE SET IN THE COMMAND REGISTE ‘
409 001544 012777 074136 017326 m MOV #764136,3TCR LOAD COMMAND REG WITH ALL BITS «
410 001552 000005 RESET i
11 001554 . CKTCR  #0,TIC :TEST CMD REG FOR 0 1
(n 001554 LP=, ‘
(1) 001554 012767 000000 017264 MOV #0,G00D q
(1) 001562 017767 017312 017246 MOV aTCR,BAD ;READ CMD REGISTER '
(1) 001570 026767 017252 017240 CMP 600D ,BAD 1
(1) 001576 001401 BEQ R 1
(1) 001600 104003 ERR+GB :CMD REG = VALUE READ NOT EQUAL TO EXPEC ‘
(1) 001602 LOOP T1C [
é%ﬁ 001622 000137 001544 JMP ANTIC i
{

2}2 001626 000137 001664 JMP ANTEST2 (
{

415 001632 000000 TILST: O 1
416 001634 040000 _ 40000 1
417 001636 020000 20000 1
418 001640 010000 10000 4
419 001642 004000 4000 4
420 001644 000100 100 1
21 001646 000020 20 i
422 001650 000010 10 i
423 001652 000004 4 ‘
424 001654 02 2 <
425 001656 000000 0 i
26 001660 074136 7413 ; 1
25; 001662 000000 TIEND: O | 4
o . (

2%3 ;TEST THAT DONE BIT IS ONLY BIT SET IN 3 REGISTERS ‘
H {

431 001664 104400 TEST2: TYPE . 1
432 001666 015653 T2MS61 :''PUT B035-B045 ON-LINE AND PRESS START ‘
433 001670 004767 010316 JSR PC,CONTIN :“'PRESS CR TO CONTINUE ‘
434 ;DONE SHOULD BE THE ONLY BIT SET IN 3 REGISTERS :
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435 001674 CKTCR  #200,LP ;TEST CMD REG FOR DONE FLAG :
(N 001674 LP=, |
(1) 001674 01;767 000200 017144 MOV #200,600D :
(1) 001702 017767 017172 017126 MOV aTCR,BAD ;READ CMD REGISTER
(1) 001710 026767 017132 017120 CMP 600D ,BAD ;
(1) 001716 001401 BEQ Y !
(1) 001720 104003 ERR+GB ;CMD REG = VALUE READ NOT EQUAL TO EXPcC .
(1) 001722 LOOP LP !
(2) 001742 000137 001674 JMP anLP p |
436 001746 CKTSR  #0,LP ;TEST STATUS REG FOR 0 ‘
) 001746 LP=.

(1) 001746 012767 000000 017072 MOV #0,G00D

(1) 001754 017767 017124 017054 MOV aTSR,BAD :READ STATUS REGISTER

(1) 001762 025767 017060 017046 CMP 600D ,BAD |
(1) J01770 001401 BEQ 4 |
(1) 001772 104003 ERR+GB ;STATUS REG - VALUE READ NOT EQUAL TO EX :
(1) 001774 LOOP LP ;
(2) 002014 000137 001746 JMP NP

437 002020 CKTIR  #0,LP ;TEST INTERRUPT REG FOR 0

) 002020 LP=,

(1) 002020 012767 000000 017020 MOV #0,G0O0D

(1) 002026 017767 017062 017002 MOV aTIR,BAD :READ INTERRUPT REGISTER

(1) 002034 026767 017006 016774 CMP 600D, BAD

(1) 002042 001401 BEQ YA

(1) 002044 104003 ERR+GB ;INTERRUPT REG - VALUE READ NOT EQUAL TO

(1) 002046 LOOP LP .
zg& 0C2066 000137 002020 JMP MLP !
223 002072 000137 002076 JMP ANTEST3

42} ;TEST THAT DONE BIT CAUSES INTERRUPT TO CORRECT ADDRESS AND BR LEVEL

“ :

43 002076 012767 000340 175672 TEST3: MOV #340,PS

446 002104 012767 000007 016744 MOV #7,LEVEL

4S5 002112 012777 0022064 017000 MOV #TSINT.3PCY :SETUP PC VECTOR

46 002120 012777 000340 016774 MOV #340,3PSY ;SETUP PS VECTOR

447 ;SHOULD GET AN INTERRUPT WHEN BPU IS SET TO ONE LEVEL BELOW BR LEVEL FOR

48 002126 012777 000100 016744 MOV #100,aTCR :ENABLE INTERRUPT IN CMD REG

449 002134 162767 000040 175634 T3A: SUB #40,PS ~ ;DROP BPU LEVEL BY 1

450 002142 000240 NOP '

451 002146 000240 NOP

452 002146 005367 016704 DEC LEVEL :1F LEVEL 1S 0 OR HIGHER

453 002152 100370 - BPL T3A :G0 WAIT FOR INT

456 00215¢ 104000 ERR ;:GOT NO INTERRUPT WITH BPU AT LEVEL 0

&55 002156 LOOP TEST3

(1) 002176 000137 002076 JMP aNTEST3 ,
456 002202 000427 ER 138 |
457 ;GOT INTERRUPT, NOW TEST TO SEE THAT IT OCCURRED AT CORRECT LEVEL |
458 002204 062706 000004 T3INT: ADD #,SP :HOUSE KEEPING OF STACK .
459 002210 016767 016710 016630 MOV BRLV,GOOD ;6G00D=BR LEVEL OF DEVICE *
460 002216 016767 016634 016612 MOV LEVEL ,BAD :BAD=LEVEL AT WHICH INTERRUPT OCCURRED ;
461 002224 026767 016616 016604 CMP GOOD ,BAD

462 002232 001401 BEQ L+

463 002234 104003 ERR+GB : : INTERRUPT OCCURRED AT WRONG LEVEL 1
464 002236 LOOP EST '

TEST3 .
(1) 002256 000137 002076 JMP aNTESTS : y |
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<485 002262 000005 138:  RESET ;CLEAR OUT CMD REG WITH RESET
46 002264 CKTCR  #200,738 :TEST CMD REG FOR DONE
M) oog;s« : LP=,
| (1) 002264 012767 000200 016554 MOV #200,G00D
© (1) 002272 017767 016602 016536 : MOV 9TCR,BAD :READ CMD REGISTER
. t1) 002300 026767 016542 016530 CMP 600D . BAD
© (1) 002306 001401 BEQ 4 |
| (1) 002310 104003 ERR+GB . :CMD REG = VALUE READ NOT EQUAL TO EXPEC
(1) 002312 LOOP 138
:g; 002332 000137 002262 JMP 138 :
223 002336 000137 002342 JMP INTESTS
470 ;TEST THAT HOPPER EMPTY CAN BE DETECTED WHEN HOPPERS ARE SELECTED, THAT
47 :HOPPER EMPTY BEING SET CAUSES INPUT ERROR TO SET AND THIS IN TURN CAUSE
z;g ;ERROR BIT TO SET IN THE CMD REG. TEST THAT ERROR BIT CAUSES AN INTERRUP
474 STEST [FOR PRIMARY HOPPER EMPTY
475 002342 112777 000040 016532 TEST4: MOVB  #40,aTCRHI ;SELECT PRIMARY HOPPER o
476 002350 CKTSR  #220,TEST4 STEST FOR IE + HE
(1) 002350 LP=.
(1) 002350 012767 000220 016470 MOV #220,600D
(1) 002356 017767 016522 016452 MOV aTSR,BAD :READ STATUS REGISTER
(1) 002366 026767 016456 016444 CMP 600D ,BAD
(1) 002372 001401 BEQ 44
(1) 00237&¢ 104003 ERR+GB :STATUS REG - VALUE READ NOT EQUAL TO EX
(1) 002376 LOOP  TEST4
(2) 002416 000137 002342 JMP INTEST4
477 002622 CKTCR  #120200,TEST4  :TEST FOR ERR + HSO + DONE
1) 002422 LP=.
(1) 002622 012767 120200 016416 MOV #120200, 6GOOD
(1) 002430 017767 016444 016400 MOV aTCR,BAD :READ CMD REGISTER
(1) 002436 026767 016406 016372 CMP 600D , BAD
(1) 002444 001401 BEQ 44
(1) 002446 104003 ERR+GB ;CMD REG - VALUE READ NOT EQUAL TO EXPEC
(1) 002450 LOOP  TEST4
(2) 002470 000137 002342 JMP MTESTS
478 rssr THAT RESET WILL CLEAR OUT CMD REG
479 002474 000005 T4A RESET ;CLEAR OUT CMD REG WITH RESET
480 002476 CKTCR  #200,T4A ;TEST CMD REG FOR DONE
(1) 002476 LP=.
(1) 002476 012767 000200 016342 MOV #200, 600D
(1) 002504 017767 016370 016324 MOV aTCR.BAD :READ CMD REGISTER
(1) 002512 026767 016330 016316 CMP GOOD ., BAD
| (1) 002520 001401 BEQ 44
(1) 002522 104003 ERR+GB :CMD REG - VALUE READ NOT EQUAL TO EXPEC
L (1) 002526 LOOP  T4A
| (2) 002544 000137 002474 JMP INTLA
L 481 :TEST FOR SECONDARY HOPPER EMPTY
. 482 002550 112777 000100 016324 T48:  MOVB  #100,3TCRHI ;SELECT SECONDARY HOPPER
. 483 00255¢ CKTSR  #220.T4B STEST FOR IE + HE
L) 002556 LP=.
(1) 002556 012767 000220 016262 MOV #220,600D
(1) 002564 017767 016314 016244 MOV 3TSR.BAD :READ STATUS REGISTER
(1) 002572 026767 016250 016236 CMP 600D . BAD
(1) 002600 001401 BEQ L+

e
~NE
— s

el i Lo Rt B B B N N e T B N N N e B el i L e T ey e v L S N LW Ly P L LN Dy P ey ray'y



R Aa— : :
MACY11_30A(1052) 20-MAY-B0 09:53 PAGE 3-13 - " .MA]
L1 0 08:5¢

- JMAIN,
CZCTBA 20-MAY-8 SEQ 0015 czen
(1) 002602 104003 ERR+GB ;STATUS REG = VALUE READ NOT EQUAL TO EX (

(1) 002604 LOOP  T4B (

(2) 002624 000137 002550 JMP NT4B (

484 0026 CKTCR  #140200,T4B ;TEST FOR ERR + HS1 + DONE (

1) 002630 LP=, b= 1

(1) 002630 012767 140200 016210 MOV #140200,6000 -

(1) 002636 017767 016236 016172 MOV aTCR,BAD ;READ CMD REGISTER , R

- (1) 002644 026767 016176 016164 CMP GOOD , BAD e
~ (1) 002652 001401 BEQ R 1
. (1) 002654 104003 ERR+GB ;CMD REG = VALUE READ NOT EQUAL TO EXPEC i A
(1) 002656 LOOP 148 e
. (2) 002676 000137 002550 JMP NT4B - E -y
. 8BS ;TEST THAT ERROR BIT IN CMD REG CAUSES AN INT 3l
. 486 002702 112777 000100 016170 MOVB  #100,3TCR ;ENABLE INT 8
487 002710 012777 002774 016202 MOV FTLINT,aPCV ;SETUP PC VECTOR (
| 4BB 002716 012777 000340 016176 MOV #340,aPSV ;SETUP PS VECTOR (
| 4B9 002726 012767 000040 175044 T4C: MOV #40,PS ;SET BPU TO LEVEL #1 (
490 002732 000240 NOP (
| 491 00273« 000240 NOP A
492 002736 012767 000340 175032 MOV #340,PS ;SET BPU TO LEVEL #7 ps -

493 002744 104000 ERR ;WITH ERROR BIT SET IN CMD REG INT DIDN' |t

(9% 002746 LOOP  T4C (

(1) 002766 000137 002724 JMP IT4C 8

495 002772 000402 BR T4D | 8

496 002774 062706 000004 * T4INT: ADD #4,SP :HOUSE KEEPING ON STACK 8

497 003000 T4D:  CKTCR  #140300,74D ;TEST FOR ERR + HS1 + IE + DONE 8

(1) 003000 LP=, 8

(1) 003000 012767 140300 016040 MOV #140300,600D (

(1) 003006 017767 016066 016022 MOV @TCR,BAD :READ CMD REGISTER (

(1) 003014 026767 016026 016014 CMP GOOD , BAD 8

(1) 003022 001401 BEQ 4 8

(1) 003024 104003 - ERR+GB ;CMD REG = VALUE READ NOT EQUAL TO EXPEC &

(1) 003026 LOOP 14D {

(2) 003046 000137 003000 JMP NTLD (

498 ;TEST THAT WRITING A 1 TO ERROR BIT CLEAR WILL CLEAR IT 8

499 003052 012777 000400 016020 T4E: MOV #400,aTCR :CLEAR ERROR BIT BY WRITING A 1 TO IT 8

500 003060 CKTCR  #200,T4E ;TEST CMD REG FOR DONE (

(1) 003060 LP=. (

(1) 003060 012767 000200 015760 MOV #200,G00D 8

. (1) 003066 017767 016006 015742 MOV aTCR,BAD ;READ CMD REGISTER (
. (1) 003076 026767 015746 015734 CMP GOOD , BAD (
- (1) 003102 001401 BEQ 44 (
(1) 003104 104003 ERR+GB ;CMD REG = VALUE READ NOT EQUAL TO EXPEC (

(1) 003106 LOOP  T4E (

(2) 003126 000137 003052 JMP NTLE el

501 003132 CKTSR  #0,T4E ;TEST STATUS REG FOR 0 g

(1 003132 LP=. - (

(1) 003132 012767 000000 015706 MOV #0,G00D | 8

(1) 003140 017767 015740 015670 MOV aTSR,BAD ;READ STATUS REGISTER (

(1) 003146 026767 01567¢ 015662 CMP 600D, BAD (

(1) 003154 001401 BEQ 44 (

(1) 003156 104003 ERR+GB ;STATUS REG = VALUE READ NOT EQUAL 10 EX (

(1) 003160 LOOP  T4E (

gss 003200 000137 003152 JMP INTLE (

(

503 00320« 000137 003210 JMP INTESTS (
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504
505
506
507
508
) 003210 104400
510 003212 015744
$ 003214 004767
512 003220 000005
513 003222 112777
516 003230 104400
515 003232 015653
516 003234 004767
517 003240 104400
5 003242 016075
519 003244 104400
) 003246 016164
5 003250 104400
522 003252 016234
b 003254 132777
b) 003262 001774
5 003264
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003264
003264 012767
003272 017767
003300 026767
003306 001401
003310 104003

003332 000137
003336

003476
003476 012767
003504 017767

006772
000010

006752

003336

000020

000000
015446
015402
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T5A:

15B:

SEQ 0016

TEST FOR PROPER STACKER FULL DETECTION FROM BOTH STACKERS INDIVIDUALLY

D THEN IN STACKER OVERFLOW MODE
FOR STACKER #1 FULL

N —4

TYPE
TSM1
JSR
RESET
MOVB
TYPE
T2MSG1
JSR
TYPE
T5MSG1
TYPE
TSMSG2
TYPE
T5MSG3
BITB
BEQ
CKTSR
LP=.
MOV
MOV
CMP
BEQ
ERR+GB
LOOP
JMP
CKTCR
LP=.
MOV
MOV
CMP
BEQ
ERR+GB
LOOP
JMP
TYPE
P2MSGH
BITB
BNE
CKTSR
LP=.
MOV
MOV
CMP
BEQ
ERR+GB
LOOP
JMP
CKTCR
LP=.
MOV
MOV

PC,CONTIN
#10,aTCRHI

PC,CONTIN

#20,aTSRHI
TSA
#110000,T5A

#110000,G00D
aTSR,BAD
GOOD,BAD

Lt

T5A
a#TSA
#104000,LP

#104000,G00D
aTCR,BAD
GOED.BAD

4

LP
ofLP

#20,3TSRHI
158

#0,G0CD
aTSR,BAD
600D ,BAD
L)

158
a#158
#104000,LP

#104000,G00D
aTCR,BAD

:"'PUT B035-8045 OFF=LINE"
;"'PRESS CR TU CONTINUE'

;SELECT STACKER ¥

;''PUT 8035-8045 ON-LINE AND PRESS START
;"'PRESS CR TO CONTINUE"

;"'PULL CARD PLATE OF STACKER #1 BACK TO
;WILL SIMULATE STACKER FULL AND HOLD 1IT
;"'PROGRAM WILL WAIT FOR STACKER FULL FLA
;WAIT FOR STACKER FULL FLAG

;TES! FOR OE + SF

:READ STATUS REGISTER

;STATUS REG = VALUE READ NOT EQUAL 10 EX
:TEST FOR ERR + SSO + DONE

;READ CMD REGISTER

;CMD REG = VALUE READ NOT EQUAL T0 EXPEC
;' PRESS STOP-RESET AND PRESS START ON T
:WAIT FOR STACKER FULL TO GO AWAY

;TEST STATUS REG FOR 0

;READ STATUS REGISTER

;STATUS REG = VALUE READ NOT EQUAL T0 EX

;TEST FOR ERR + SSO

;READ (MD REGISTER

~NTE
>

e
MM s ~m MMM MO MO0 MO OODADAD /™~ oo D s oo o (D s s (DD~~~ (DD =l



MAIN.

MACY11_30A(1052)

CZCTBA.PIN

(W W P
W o o o

kel el bl LT ol ol LY LW LV, IV TV, TN T TV P P
N--f—‘-—l—'-bbbbugugwr
N o o S S v (PN = O O D ~YO N

VWA WA
Pk ol o F 0 o
LW~NO~WV

NN s PN PN N P
ol o P
ODvewvwvwvwuwwww

ssgsss gssss
FEEEES FORET

004036

20=-MAY-80

02676;

000137

112777
104400
016344
104400
016164
104400
016234
132777
001774

003602
012767
017767
026767

000137

104400
016036
004767
000005
012777
104400
016075
104400
016164
004767
132777
001401
104000

000137
104400
01634¢

08:5
015330

003476
000031

003572

000020

000000
215202
015136

003660

006240
000001

006214
000020

003776
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015316

015324

015306
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015116

015102

¥3l:

15D:

TSE:

SEQ 0017
CMP 600D ,BAD
BEQ T
ERR+GB ;CMD REG = VALUE READ NOT EQUAL TO EXPEC
LOOP LP
JMP anLP
:TEST FOR STACKER #2 FULL
?9;2 #31,8TCRMI SELECT STACKER #2 + CLEAR ERR
}3:265 :"'PULL CARD PLATE OF STACKER #2 BACK TO
}3:262 sWILL SIMULATE STACKER FULL AND HOLD IT
TSMSG3 :"'PROGRAM WILL WAIT FOR STACKER FULL FLA
BITB #20,3TSRHI
BEQ T5C :WAIT FOR STACKER FULL FLAG
c:rsa #110000,75¢C :TEST FOR OE + SF
LP=.
MOV #110000, 600D
MOV aTSR,BAD ;READ STATUS REGISTER
CMP GOOD,BAD
BEQ R
ERR+GB ;STATUS REG = VALUE READ NOT EQUAL TO EX
LOOP T5C
JMP anT5C
TYPE
P2MSG3 :"'PRESS STOP-RESET AND PRESS START ON THE 8035-8
BITB #20,3TSRHI
BNE 15D :WAIT FOR STACKER FULL TO GO AWAY
C;TSR #0,T5D ;TEST STATUS REG FOR 0
LP=.
MOV #0,G00D :
MOV aTSR,BAD ;READ STATUS REGISTER
CMP GOOD ,BAD
BEQ 44
ERR+GB ;STATUS REG = VALUE READ NOT EQUAL TO £X
LOOP 15D
JMP FTABY))
%}séT FOR STACKER FULL IN STACKER OVERFLOW MODE
TS5M2 :"'PRESS START ON THE 8035-8045"
JSR PC,CONTIN :"'PRESS CR TO CONTINUE
RESET :CLEAR OUT CMD REG
?9!5 #1,3TCR ;SET STACKER OVERFLOW MODE + GO
}SEEGI :"'PULL CARD PLATE OF STACKER #1 BACK T0
Y
T5MSG2 ;WILL SIMULATE STACKER FULL AND RELEASE'
JSR PC,CONTIN :"'PRESS CR TO CONTINUE'
BITB  #20,3TSRHI
BEQ L4
ERR ;STACKER FULL FLAG SET WITH ONLY STACKER
;FULL WHEN IN OVERFLOW MODE
LOOP TSE
JMP aNTSE
TYPE
T5MSGS :"PULL CARD PLATE OF STACKER #2 BACK 10
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567 004040 104400 TYPE (
568 004042 016164 TSMSG2 ;WILL SIMULATE STACKER FULL AND HOLD 1|7 (
569 004044 104400 TYPE (
S70 004046 016234 TSMSG3 ;''PROGRAM WILL WAIT FOR STACKER FULL FLA (
571 004050 132777 000020 015030 TSF: BITB #20,3TSRH] 8
S7 004056 001774 BEG T5F JWAIT FOR STACKER FULL FLAG \
57 004060 CKTSR #110000, T5F sTEST FOR OE + SF (
) 004060 LP=, (
(1) 004060 012767 110000 014760 MOV #110000,G00D (
(1) 004066 017767 015012 014742 MOV oTSR,BAD sREAD STATUS REGISTER (
(1) 004074 026767 014746 014734 CMP 600D ,BAD (
(1) 004102 001401 BEQ Y (
(1) 004104 104003 ERR+GB ;STATUS REG = VALUE READ NOT EQUAL TO EX (
(1) 004106 LOCP TSF 8
(2) 004126 000137 004050 JMP ANTSF 8
S7¢ 004132 CKTCR  #100000,LP ;TEST FOR ERR )
(n 004132 LP=, 8
(1) 004132 012767 100000 014706 MOV #100000,GOOD 8
(1) 0046140 017767 014734 014670 MOV aTCR,BAD JREAD CMD REGISTER (
(1) 004146 026767 014676 014662 cmp GOOD ,BAD (
(1) 0064154 001401 BEQ YA 8
(1) 004156 104003 ERR+GB ;CMD REG = VALUE READ NOT EQUAL 10 EXPEC 5
(1) 004160 LOOP LP 8
(2) 004200 000137 004132 JMP ANLP 8
575 006204 104400 TYPE 8
576 004206 016472 T15MSG7 :"'RELEASE BOTH CARD PLATES AND PRESS STA 8
S77 004210 004767 005776 JSR PC,CONTIN ;"'PRESS CR 10 CONTINUE'' (
2;3 004214 000005 RESET | é
gg? 004216 000137 004222 JMP INTESTH ! 8
; 8!

ggg ;FORCE INPUT CHECK ERROR BY TRYING TO FEED A CARD FROM AN EMPTY HOPPER g (
: . (

584 004222 000005 TEST6: RESET | 8
585 004224 104400 TYPE . ' (
586 004226 016531 T6MSG ;"'PRESS START ON THE 8035-8045" . (
587 004230 004767 005756 JSR PC,CONTIN ;"'PRESS CR TO CONTINUE' f (
588 004234 012777 020001 014636 MOV #20001,aTCR ;ISSUE GO COMMAND TO PRIMARY MOPPER (
589 004242 005067 014574 CLR CNT (
590 004246 162767 000001 014566 SUB #1,CNT (
591 004254 001374 BNE .~6 (
592 004256 162767 000001 014556 SUB #1,CNT (
593 004264 001374 BNE .~b sDELAY 1 SECOND 8
594 006266 162767 000001 014546 SUB #1,CNT (
595 004274 001374 BNE .=6 (
596 0046276 162767 000001 014536 SUB #1,CNT (
597 004304 001374 BNE .6 ;DELAY 1 SECOND (
598 004306 CKTSR  #320,LP sTEST FOR JE + 1C + HE (
(1) 004306 LP=, (
(1) 004306 012767 000320 014532 MOV #320,600D (
(1) 006314 017767 014564 014514 MOV aTSR,BAD ;READ STATUS REGISTER (
(1) 0046322 026767 014520 014506 (mp GOOD ,BAD 8
(1) 004330 001401 BEQ L4 #
(1) 004332 104003 ERR+GB ;STATUS REG = VALUE READ NOT EQUAL T0 EX 8
(1) 004334 LOOP LP (
(2) 004354 000137 004306 JMP P (
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CZCTBA.PIY 20=-MAY-B0 08: SEQ 0019 czct
288 004360 000005 RESET g
gg} 004362 000207 RTS PC SEXIT LOGIC TEST ?
603 ;THIS TEST FEEDS 20 BLANK CARDS, 10 FROM EACH HOPPER, INTO THE STACKERS (
604 3 (10 INTO EACH STACKER). THE CARDS ARE TESTED FOR ALL SPACES AND 8
605 : TESTING IS DONE TO INSURE THAT THE INPUT DATA REQUEST CAN CAUSE (
o3 : AN INTERRUPT. (

. (
608 004364 000005 PASS1: RESET (
609 004366 104400 TYPE (
610 004370 016570 CRDTST s'exenre CARD TESTS wewee' (
611 004372 104400 TYPE (
612 004374 016623 P1MSG! ;"'REMOVE ALL CARDS AND PUT THE 8035-8045 (
613 004376 004767 005610 JSR PC,CONTIN ;"'PRESS CR TO CONTINUE' 8
614 004402 004767 007550 JSR PC,CKSWR (
615 004406 000005 RESET (
616 004410 112777 000010 014464 MOVB #10,3TCRHI JSELECT STACKER #1 (
617 004416 104400 TYPE (
618 004420 016705 P1MSG2 ;"'PUT 10 BLANK CARDS IN EACH INPUT HOPPE (
619 004422 104400 TYPE (
620 004424 016757 P1MSG3 ;"'PUT 8035-8045 ON-LINE AND PRESS (
621 ; START ON THE 8035-8045"" (
622 004426 004767 005560 JSR PC,CONTIN ;"'PRESS CR TO CONTINUE'' g
623 sDONE ¢ SSO SHOULD BE THE ONLY BITS SET IN THE CMD REG 8
624 004432 g CKTCR  #4200,LP ;:TEST FOR SSO + DONE FLAG | 8
() 004432 LP=, 2
(1) 004432 012767 004200 014406 MOV #4200,G00D | 8
(1) 004440 017767 0144346 014370 MOV aTCR,BAD ;READ CMD REGISTER ; 8
(1) 004446 026767 014374 014362 cmp GO0D ,BAD ; 8
(1) 004454 001401 BEQ Y ; 8
(1) 004456 104003 ERR+GB ;CMD REG - VALLS READ NOT EQUAL TO EXPEC ; 9
(1) 004460 LOOP LP ' 9
(2) 004500 000137 004432 JMP NP i 9
625 JSEE IF ISSUING GO CLEARS THE DONE FLAG (READ 1ST CARD) i 9
626 004504 012777 024001 014366 MOV #26001,3TCR ;1SSUE HSO + SSC + GO ! 9
627 004512 CKTCR  #24000,LP ;TEST FOR HSO + SSO 9
(1) 004512 LP=, 9
(1) 004512 012767 024000 014326 MOV #24000,G00D 9
(1) 004520 017767 014354 014310 MOV oTCR,BAD sREAD CMD REGISTER 9
(1) 004526 026767 014314 014302 CMpP 600D ,BAD 9
(1) 004534 001401 BEQ 44 9
(1) 004536 104003 ERR+GB ;CMD REG - VALUE READ NOT EQUAL TO EXPEC 9
(1) 004540 LOOP LP 9
(2) 004560 000137 004512 JMP o¥LP 9
628 004564 005067 014252 CLR CNT 9
629 004570 162767 000001 014244 SUB #1,CNT 9
630 004576 00137¢ BNE .~6 9
631 004600 162767 000001 014234 SUB #1,CNT 9
632 004606 001374 BNE =6 ;DELAY 1 SECOND 9
633 004610 CKTSR #4011,LP ;TEST FOR CIW ¢ RDR 9
(1) : 004610 LP=, i 9
(1) 004610 012767 004011 014230 MOV #4011,600D 9
(1) 004616 017767 014262 014212 MOV aTSR,BAD JREAD STATUS REGISTER (
(1) 004624 026767 14216 014204 (MP GOO0D,BAD (
(1) 004632 001401 BEQ 44 (
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SEQ 0020
(1) 004634 104003 ERR+GB ;STATUS REG = VALUE READ NOT EQUAL TO EX
(1) 004636 LOOP LP
(2) 004656 000137 004610 JMP NP
6 004662 CKTIR  #200,LP ;TEST FOR IDR
(n 004662 LP=,
(1) 004662 012767 000200 014156 MOV #200,G00D
(1) 004670 017767 014220 014140 MOV aTIR,BAD JREAD INTERRUPT REGISTER
(1) 004676 026767 014144 014132 Cmp GOOD,BAD
(1) 004704 001401 BEQ Y
(1) 004706 104003 : ERR+GB ;INTERRUPT REG = VALUE READ NOT EQUAL TO
(1) 004710 LOOP LP
(2) 004730 000137 004662 JMP arLP
635 SEE IF INPUT DATA REQUEST WILL CAUSE AN INTERRUPT
636 004734 112777 000100 014136 MOVB #100,aTCR JENABLE INT
637 004742 012777 005026 014150 MOV #P1INT ,aPCv sSETUP PC VECTOR
638 004750 012777 000340 014144 MOV #340,9PSV SETUP PS VECTOR
639 004756 012767 000040 173012 P1A: MOV #40,PS JSET BPU TO LEVEL #1
640 004764 000240 NOP
641 004766 000240 NOP
642 004770 012767 000340 173000 MOV #340,PS ;SET BPU TO LEVEL #7
643 004776 104000 ERR ; INPUT DATA REQUEST DIDN'T CAUSE AN INTE
644 005000 LOOP P1A
(1) 005020 000137 004756 JMP ANPIA
645 005024 000402 BR P1B
646 005026 062706 000004 P1INT: ADD B4, SP ;HOUSE KEEPING ON STACK
647 005032 004767 005204 P1B: JSR PC,BLKCRD ;TEST FOR BLANK CARD
648 005036 CKTSR  #4010,LP ;TEST FOR ClW
) 005036 LP=,
(1) 005036 012767 004010 014002 MOV #4010,600D
(1) 005046 017767 014034 013764 MOV aTSR,BAD ;READ STATUS REGISTER
(1) 005052 026767 013770 013756 CMP 600D ,BAD
(1) 005060 001401 BEQ Y
(1) 005062 104003 k ERR+GB ;STATUS REG = VALUE READ NOT EQUAL TO EX
(1) 005064 LOOP LP
(2) 005104 000137 005036 JMP NP
649 005110 CKTER  #24300,LP ;TEST FOR HSO ¢ SSO + DONE + INT EN
(n 005110 LP=.
(1) 005110 012767 024300 013730 MOV #24300,600D
(1) 005116 017767 013756 013712 MOV aTCR,BAD ;READ CMD REGISTER
(1) 005126 026767 013716 013704 CMP GOOD,BAD
(1) 005132 001401 BEQ YA
(1) 005134 104003 ERR+GB ;CMD REG - VALUE READ NOT EQUAL TO EXPEC
(1) 005136 LOOP LP
(2) -005156 000137 005110 JMP ANLP
650 :READ CARDS #2-9 FROM PRIMARY HOPPER
651 005162 012767 000010 013654 MOV #10,CNT1
652 005170 012777 024001 013702 P1D: MOV #26001,3TCR ;ISSUE HSO + SSO + GO
653 005176 WTIDR
(1) 005176 032777 000200 013710 BIT #200,aTIR
(1) 005204 001774 BEQ =6 ;WAIT FOR INPUT DATA REGUEST
654 005206 CKTSR  #4011,LP ;TEST FOR CIW + RDR
(1 005206 LP=,
(1) 005206 012767 004011 013632 MOV #4011,600D
(1) 005214 017767 013664 013614 MOV aTSR,BAD ;READ STATUS REGISTER
(1) 005222 026767 013620 013606 (mMP GOO0D,BAD
(1) 005